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.14 =+ 4 ) 1.50 2.21
Ay T84 1) e+
2.47 0.00 = 0.90 2.47
¥ 455 T (As)
1.35 0.03 0. 04
TR T
FAEY)SAEA t=10cm 1.50 0.90 1.35
RC-40
g T
HAERGHA t=17cm
RM-40
FET
FAEBRET 2 22 t=3cn 1. 50 0.90 1.35
PK—3
+ET
7V 2RI H=2. 5m 1.50 1.50

1B AR




T TEEREE
HriE
BlKEAE ¢ 300
DIP ¢ 300mm DP=1. 10m

B B DIP ¢ 300 P Bt 1) .39 m
AREERE 0.03 m Pk Y B2 .29 m A+
SR EIEOBE 0.30 m A 0.10 m  FEk®%
! & HNR 0.32 m A m BB
PEHE 0.85 m AS 0.03 m
BER% & 4% m  EREEE m
IEHE R 21. 88 21. 88
SRR BT T
As t=15ecmE T 21.88 X 2 =| 43.76
SRR EE T
As t=10cmEL F 21.88 X 0.85 =| 18.60
SRR EE T
As t=40cmPA T =
F A I T
0.85 X 1.39 X 21. 88 =| 25.85
HET G4T) ( 0.8 X .29 — 0.32 2
X 3.14 = 4 ) X 21.88 =| 22.23
HET (WE+)
Ay T84 1) 4+
25.85  — 22.23 =+ 0.90 =| 1.15
¥ 455 T (As)
18.60 X 0.03 =| 0.56
TR T
FAEY)SAEA t=10cm 21.88 X 0.85 =| 18.60
RC-40
g T
BARIEEA t=17cn -
RM-40
FET
FAEBRET 2 22 t=3cn 21.88 X 0.85 =| 18.60
PK—3




T TEEREE
HriE
BlKEAE ¢ 300
DIP ¢ 300mm  DP=2. 00m

B B DIP ¢ 300 P Bt 1) 2.29 m
AREERE 0.03 m Pk Y B2 2.19 m A+
KN 7 N4X 5{ D
AHE Cliate 0.30 _m [ 010 _m it
B MR 0.32 m A m - AR
PEHE 1.05 m AS 0.03 m
BERRE S m PERR S LR m
IEHE R 1.06 1. 06
SRR BT T
As t=15ecmE T 1.06 X 2 =| 2.12
SRR EE T
As t=10cmEL F 1.06 X 1.05 = 1.11
SRR EE T
As t=40cmPA T =
F A I T
1.05 X 2.29 X 1.06 =| 2.55
WERT (AL ( 1.05 X 2.19 — 0.32 2
X 3.14 = 4 ) X 1.06 =| 2.35
HET (WE+)
Fe A5 T (A1) e+
2.55  — 2.35 =+ 0.90 =| -0.06
¥ 455 T (As)
1.11 X 0.03 =| 0.03
TR T
FAEY)SAEA t=10cm 1.06 X 1.05 = 1. 11
RC-40
g T
BARIEEA t=17cn -
RM-40
FET
FAEBRET 2 22 t=3cn 1.06 X 1.05 = 1.11
PK—3
+ET
7V 2RI H=3. Om 1.06 = 1. 06
2B AR




T TEEREE
HE
BlKEAE ¢ 300
DIP ¢ 300mm DP=1. 10m

B B DIP ¢ 300 P Bt 1) .27 m
AREERE 0.15 m Pk Y B2 0.62 m A+
= 0.20 m HBRLBR+
e s EIFOE 0.30 m AR 0.30 m  FEKE
HE eSS e
B MR 0.32 m A 0.23 m - A
P HIE 0.85 m AS 0.07 m
BERRE S m PRSI m
IEHE 40. 20 40.20 m
SRR BT T
As t=15ecmE T 40.20 X 2 =| 80.40 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 40.20 X 0.85 =| 34.17 m
F A I T
0.85 X 1.27 X 40. 20 =| 43.40 m
HWERT (AL ( 0.8 X 0.62  — 0.32 2
X 3.14 = 4 ) X 40. 20 =| 17.95 m
HWRIT (KR
40.20 X 0.85 X 0.20 =| 6.83 m
PSS T (A1) e+
43.40 — 17.95  + 0.90 =| 23.46 m
¥ 4055 T (As)
34.17 X 0.15 =| 513 m
TR T
FAEY)SAEA t=30cm 40.20 X 0.85 =| 34.17 i
RC-40
g T
FAERIRAEA t=23cm 40.20 X 0.85 =| 34.17 i
RM-40
FET
FAEBRET 222 t=Tcn 40.20 X 0.85 =| 34.17 m
PK—3




+TEREE
HIJH
Bl KEARR ¢ 300

DIP ¢ 300mm DP=1. 30m

B B DIP ¢ 300 P Bt 1) 1.47 m
AREERE 0.15 m Pk Y B2 0.82 m A+
= 0.20 m HBRLBR+
SR EIFORE 0.30 m A% 0.30 m LA
MR 0.32 m A 0.23 m e
PE S 1.05 m AS 0.07 m
BERRE S m PERR S IR m
IEHE 2.33 2.33 m
SRR BT T
As t=15ecmE T 2.33 2 4.66 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 2.33 1.05 2.45 m
F A I T
1.05 1.47 X 2.33 3.60 m
HET G4T) 1.05 0.82 — 0.32
.14 =4 ) 2.33 1.82 i
HET (WE+)
2.33 1.05 X 0.20 0.49 m
Ay T84 1) e+
3. 60 .82 =+ 0.90 1.58 i
¥ 4055 T (As)
2.45 0.15 0.37 m
TR T
FAEY)SAEA t=30cm 2.33 1.05 2.45 m
RC-40
g T
FAERIRAEA t=23cm 2.33 1.05 2.45 m
RM-40
FET
FAEBRET 222 t=Tcn 2.33 1.05 2.45 m
PK—3
+ET
7V 2RI H=2. Om 2.33 2.33 m
1B AR




T TEEREE
HE
BlKEAE ¢ 300
DIP ¢ 300mm DP=1. 55m

B B DIP ¢ 300 P Bt 1) .72 m
AREERE 0.15 m Pk Y B2 .07 m A+
= 0.20 m HBRLBR+
SR BIFOYR 0.30 m s 0.30 m @K
! & HNR 0.32 m A 0.23 m gk
P HIE 1.05 m AS 0.07 m
BERRE S m PRSI m
IEHE 8.39 8.39 m
SRR BT T
As t=15ecmE T 8.39 X 2 =| 16.78 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 8.39 X 1.05 =| 8.8l m
F A I T
1.05 X .72 X 8.39 =| 15.15 m
HET G4T) ( 1.05 X .07  — 0.32 2
X 3.14 = 4 ) X 8.39 =| 875 m
HET (WE+)
8.39 X 1.05 X 0.20 = .76 m
Ay T84 1) e+
15.15  — 8.75 =+ 0.90 =| 5.43 m
¥ 4055 T (As)
8. 81 X 0.15 = .32 of
TR T
FAEY)SAEA t=30cm 8.39 X 1.05 = 8.81 ni
RC-40
g T
FAERIRAEA t=23cm 8.39 X 1.05 = 8.81 ni
RM-40
FET
FAEBRET 222 t=Tcn 8.39 X 1.05 =| 8.8l m
PK—3
+ET
7V 2RI H=2. bm 8.39 = 8.39 m
1B AR




T TEEREE
HE
BlKEAE ¢ 300
DIP ¢ 300mm  DP=2. 00m

B B DIP ¢ 300 P Bt 1) 2.17 m
AREERE 0.15 m Pk Y B2 .52 m A+
= 0.20 m HBRLBR+
e s EIFOE 0.30 m AR 0.30 m  FEKE
HE eSS e
B MR 0.32 m A 0.23 m B R
P HIE 1.05 m AS 0.07 m
BERRE S m PRSI m
IEHE 13.98 13.98 m
SRR BT T
As t=15ecmE T 13.98 X 2 =| 27.96 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 13.98 X 1.05 =| 14.68 m
F A I T
1.05 X 2.17 X 13.98 =| 31.85 m
HWERT (AL ( 1.05 X .52  — 0.32 2
X 3.14 = 4 ) X 13.98 =] 21.19 m
HWRIT (KR
13.98 X 1.05 X 0.20 = 2.94 m
PSS T (A1) e+
31.85 — 21.19 =+ 0.90 =] 831 m
¥ 4055 T (As)
14.68 X 0.15 =] 2.20 m
TR T
FAEY)SAEA t=30cm 13.98 X 1.05 =| 14.68 i
RC-40
g T
FAERIRAEA t=23cm 13.98 X 1.05 =| 14.68 i
RM-40
FET
FAEBRET 222 t=Tcn 13.98 X 1.05 =| 14.68 m
PK—3
+ET
7V 2RI H=3. Om 13.98 =] 13.98 m
2B AR




T TEEREE
HE
BlKEAE ¢ 300
DIP ¢ 300mm DP=2. 15m

B B DIP ¢ 300 P Bt 1) 2.32 m
AREERE 0.15 m Pk Y B2 1.67 m A+
= 0.20 m HBRLBR+
e s EIFOE 0.30 m AR 0.30 m  FEKE
HE eSS e
B MR 0.32 m A 0.23 m - A
P HIE 1.05 m AS 0.07 m
BERRE S m PRSI m
IEHE 10. 98 10.98 m
SRR BT T
As t=15ecmE T 10.98 X 2 =| 21.96 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 10.98 X 1.05 =| 11.53 m
F A I T
1.05 X 2.32 X 10. 98 =| 26.75 m
HWERT (AL ( 1.05 X .67 — 0.32 2
X 3.14 = 4 ) X 10. 98 =| 18.37 m
HWRIT (KR
10.98 X 1.05 X 0.20 = 2.31 m
PSS T (A1) e+
26.75 < — 18.37 —+ 0.90 =] 6.34 m
¥ 4055 T (As)
11.53 X 0.15 = .73 o
TR T
FAEY)SAEA t=30cm 10.98 X 1.05 =| 11.53 i
RC-40
g T
FAERIRAEA t=23cm 10.98 X 1.05 =| 11.53 i
RM-40
FET
FAEBRET 222 t=Tcn 10.98 X 1.05 =| 11.53 m
PK—3
+ET
7V 2RI H=3. Om 10. 98 =] 10.98 m
2B AR




T+ TEHEE
HH
Bl KEARE ¢ 150

DIP ¢ 150mm DP=1. 30m

B B DIP ¢ 150 P Bt 1) .32 m
AREERE 0.15 m P Y B2 0.67 m A+
WwR+ 0.20 m HBRLBR+
e s EIFOE 0.15 m A 0.30 m  FEKE
AR A Y
B MR 0.17 m A 0.23 m B R
P HIE 0.70 m AS 0.07 m
BERRE S m PRSI m
IEHE 4.04 4.04 m
SRR BT T
As t=15ecmE T 4,04 2 8.08 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 4,04 0.70 2.83 m
F A I T
0.70 .32 X 4,04 3.73 m
HWERT (AL 0.70 0.67 — 0.17
3.14 =+ ) 4,04 1.80 i
HWRIT (KR
4,04 0.70 X 0.20 0.57 m
PSS T (A1) e+
3.73 .80 =+ 0.90 .73 o
¥ 4055 T (As)
2.83 0.15 0.42 m
TR T
FAEY)SAEA t=30cm 4. 04 0.70 2.83 m
RC-40
g T
FAERIRAEA t=23cm 4. 04 0.70 2.83 m
RM-40
FET
FAEBRET 222 t=Tcn 4,04 0.70 2.83 m
PK—3




T TEEE
HLiH
BL/KEAEX ¢ 150
DIP ¢ 150mm DP=2. 15m

B B DIP ¢ 150 P Bt 1) 2.17 m
AREERE 0.15 m Pk Y B2 .52 m A+
= 0.20 m HBRLBR+
e s EIFOE 0.15 m AR 0.30 m  FEKE
HE eSS e
B MR 0.17 m A 0.23 m B R
P HIE 0.90 m AS 0.07 m
BERRE S m PRSI m
IEHE 6.24 6.24 m
SRR BT T
As t=15ecmE T 6. 24 X 2 =| 12.48 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 6. 24 X 0.90 =| 5.62 m
F A I T
0.90 X 2.17 X 6. 24 =] 12.19 m
HWERT (AL ( 0.90 X .52  — 0.17 2
X 3.14 = 4 ) X 6. 24 =| 839 m
HWRIT (KR
6. 24 X 0.90 X 0.20 = .12 of
PSS T (A1) e+
12.19 — 8.39 - 0.90 =| 2.87 m
¥ 4055 T (As)
5.62 X 0.15 =] 0.84 m
TR T
FAEY)SAEA t=30cm 6. 24 X 0. 90 = 5.62 m
RC-40
g T
FAERIRAEA t=23cm 6. 24 X 0. 90 = 5.62 m
RM-40
FET
FAEBRET 222 t=Tcn 6. 24 X 0.90 =| 5.62 m
PK—3
+ET
7V 2RI H=3. Om 6.24 = 6.24 m
2B AR




+ TEHEE
E
DCVIVE ¢ 150

Ty

"

DIP ¢ 150mm DP=1. 30m

B B DIP ¢ 150 P Bt 1) .52 m
AREERE 0.15 m Pk Y B2 0.87 m A+
= 0.20 m HBRLBR+
e s EIFOE 0.15 m AR 0.30 m  FEKE
AR A Y
B MR 0.17 m A 0.23 m B R
P HIE .20 m AS 0.07 m
BERRE S 0.17 m PERR S IR .50 m
IEHE 1.50 1.50 m
SRR BT T
As t=15ecmE T 1.50 2 1.20 5.40 m
AR EUE T
As t=10cmPA T m
AR EUE T
As t=40cmPL T 1.50 1.20 1.80 nf
Fh R I 1. 20 1.52 X 1.50
0.17 3.14 + 4 1.50 ) 2.70 m
HWERT (AL 1.20 0.87 — 0.17
3.14 + 4 ) 1.50 1.53 i
HWRIT (KR
1.50 1.20 X 0.20 0.36 m
PSS T (A1) e+
2.70 .53 =+ 0.90 1.00 i
¥ 4055 T (As)
1.80 0.15 0.27 m
TR T
FAEY)SAEA t=30cm 1.50 1. 20 1.80 mf
RC-40
g T
FAERIRAEA t=23cm 1.50 1. 20 1.80 mf
RM-40
FET
FAEBRET 222 t=Tcn 1.50 1.20 1.80 nf
PK—3
+ET
7V 2RI H=2. Om 1.50 1.50 m
1B AR
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B X B M B £ B M K L)

ore s — st | — e T2 ] oors | e y g | 5
o L o sao0x | oox | e [BF g “anox” | 5 s00x | ek o | i BT Ehdad g e e S
ER N YE i 90° 45° 22° 11° W5z22° | Wisz45° | @150 ®300 75 450H @100 ! 57 VA
GX 675 1 1 1 1 1 1 1 1
GX ¢ 150 2 3 5 3 1 1 1 1 1 1
GX ¢ 300 50 7 57 8 3 1 3 2 1 2 3 1 3 1 4
Ll F i wmien | WET BT BT FiTS SR WA itk | 22500 | DA TP | KA P e i i s | ma
T 5% BpE | 24 [PV |6 s 2.
w1 | 75%300 | 75500 | 75% 200 | 75 200 V?Q{?j)% THkER 75 625 | 350%300 [ 500 % 690 500 % 690 500 X 690| K" v%» ®100 e R
GX 675 1 2 1 3 0.2 4.7
GX ¢ 150 2 5 10 2 23.3
GX ¢ 300 3 2 1 2 1 3 2 1 21 15 22 40.2 346. 3
i 43% 374.3
B oA T T
AT s e | BRI . w7 T | e meaene| sser For | s
W | RIPE | gy |6V 7 [APRER(ABEE| T 2T S0 |man L || o T 77T |o—h L
GX 675 ! 2 1 3 1 1 2 3 4.7 4.7
GX ¢ 150 22.711 5 2 10 2 6 40.0 23.3
GX ¢ 300 345.2] 57 21 22 6 4 16 803.7 | 346.3
B 848.4 | 374.3




MRS (B L) B
G X% ¢ 75mm e TIEF: 4.710 4.7
DP=0. 82m~1. 10m BRI R 4. 220 4.2
iz} ¥l B & MEBER o & | R
H 4l i1 G X& 1. 000 1. 000
Z ) & G X &Y 1. 000 1. 000
Z ) B GX® 1. 000 1. 000
W = iy B 45° 0. 140 0. 140
& 45° 0. 400 0. 400
ooz A % % | 100X ¢75 0.410 0. 410
Y 7 kY — AL R AR L 0. 490 0. 490
9 #» #§ -+ JE & | H=510~690mm HaR
% A il mo | BIBE 75
% = il i | BIEE ¢ 100
% = il s FA4F 0. 030 0. 030
% = gl | GU Y7 $75
®oOOMm F Mk F VC ¢ 75
(2T ¢ 300X 100 I~1iE) 0. 240 0. 240




MBS (B R L) B>
G X7 ¢ 150mm i T R 23. 290 23.3
DP=1. 30m~2. 15m BARRIE R 22. 740 22. 7
7} ¥t Bl % MEHE R R
[ & G X& 5. 000 2 10. 000
H =l H GX%® 3.310 1 3.310
H il H G X%& 1. 440 1 1. 440
H =il H GX%® 1. 740 1 1. 740
4 ] B | GXENRL 1. 690 1 1. 690
4 =il B | GXEMNRL 0. 860 1 0. 860
4 ] | GXEMNRL 0. 860 1 0. 860
0] = ih H 45° 0. 200 1 0. 200
0] % & 22° 1/2 0. 140 1 0. 140
fih H 45° 0. 470 3 1. 410
il s 22° 1/2 0.410 1 0.410
ik i ¢ 150 0. 240 1 0. 240
& Es 5] K#2150
Y 7 kY — LAt ) SR L 0. 550 1 0. 550
£ 8 # = - JE A | H=510~690mm EREi] 1
7 A + ¢ 150 0. 040 5 0. 200
B & gl i BIEE 2
B = il i GYUr7 10
(22 TF4 ¢ 300X 150  I5fV5) 0. 240 1 0. 240




MBS (B L) >

G X7 ¢ 300mm i T R 347. 730 347.7
DP=1. 10m~2. 15m BRI R 345. 230 345. 2
7} ¥t Bl % PBHE & & | R

[ & G X& 6. 000 50 300. 000
H =l H GX%E 3. 600 1 3. 600
Z 15 & G X&' 1. 450 1 1. 450
H =l H GX%® 2.210 1 2.210
H ] H GX%E 5.110 1 5.110
H ] =4 GX%E 0.910 1 0.910
H il H GX%E 0. 980 1 0. 980
Z 7] =4 G X &rh 2. 620 1 2. 620
Z 15 & G X&' 1. 870 1 1. 870
Z ] (=4 G X &rh 2. 180 1 2. 180
il ] H G X% 1. 040 1 1. 040
Z ] (=4 G X &rh 1. 030 1 1. 030
4 ] B | GXEMNRL 1. 390 1 1. 390
Z ) H G X&' 0. 850 1 0. 850
H ] H GX%® 4. 500 1 4. 500
4 =il B | GXEMNRL 1. 150 1 1. 150
Z 15 & G X&' 1. 200 1 1. 200
fih H 45° 0.570 8 4. 560
0] % ith & 45° 0. 260 2 0. 520
fih H 22° 1/2 0. 480 3 1. 440
] % ith & 22° 1/2 0. 180 3 0. 540
fih H 11° 1/4 0. 400 1 0. 400
~ % T F & | $300X¢100 0. 490 1 0. 490




MR E (B L) B
G X7 ¢ 300mm e THE 347. 730 347.7
DP=1. 10m~2. 15m BRI R 345. 230 345. 2
7} s Bl F& FHBHE & ¥ B | IC R
—~ = T F  F | ¢$300X ¢150 0. 550 1 0. 550
~ % T F & | $300X ¢$300 0. 790 2 1. 580
ik i GXJE ¢ 300 0. 300 3 0. 900
& 2 E| K#300
F oo 1T 5 & ¢ 300X ¢ 75 0. 470 3 1. 410
2 AV R - ¢ ¢ 75X 300L 3
FCD il & Sin ¢ 75X 200L 1
2T v L A g AE ¢ 75X 200L 2
7| T Y = T QR H 3
HE e I = | ¢500x690H 1 (FEate)
1H U i f# | ¢500X690H 2 (FEate)
Yy 7 kv — LA H ZHEL 0. 700 3 2. 100
V7 kY — Al A sz 0. 400 1 0. 400
£ 8 # = - JE A | H=510~690mm EREi] 4
B = & mno | HIEE ¢ 300 21
B & Rl i 74 0. 050 15 0. 750
B = il i | GV 7 ¢300 22




Bk & A 5 B (B L)

G X7 ¢ 75mm
' S = A B | B B I i

H A B T ¢ 75 4.2 m
1% = T EE ¢ T5 1 H
B = T HgE 75 2 |
% = T RIE ¢ 100 1 N
% = T GUrvZr 75 3 o
A = 71 vk F T LB 1 H
A = B v ik F L Rk 1 |
ft. 8 # & @& I ¢ 75 1 5
8 = F BE L H=510~690mm 1 E50
v & o8 7 — 7 L DIP ¢ 75 4.7 m
oo vy — b L 4.7 m
BE ik B 8 F U M T ¢ 75 2 |
o8k & Bl Mk L ¢ 75 3 |




Bl EAmEE (BiET)
G X7 ¢ 150mm

' S = A B | B B I i
H A B T ¢ 150 22.7 m
Bz = T EE ¢ 150 5 N
% = T HIBE ¢ 150 2 o
% & T | GUVyZ7 ¢150 10 N
A 1= v A T |KE Regkifdm ¢ 150 H
BE 7% 8% 8 & U W L KiZ ¢ 150 2 H
g m B W T ¢ 150 6 u
o o & E L ¢ 150 1 5
H 8 of E R E T H=510~690mm 1 & AT
® &£ o8 7 — 7 T DIP ¢ 150 40 m
(O S N 23.3 m




Bl K E AR R (B fE 1)

G X7 ¢ 300mm
' S - G B | & B Off i =

H gl B T ¢ 300 345. 2 m
% = T EE ¢ 300 57 |
% & €T RIBE ¢ 300 21 M
% = T | GUvZ ¢300 22 |
A 1= J1 v A T (K Repkifdm 6300 H
AR S S 7.5 ¢ 75 6 |
B oo 6 8 % W W T ¢ 300 4 |
g m B W T ¢ 300 16 u
o o & E L ¢ 300 4 5
8 = F BE L H=510~690mm 4 & T
Mok B E R E L ek EET 3 & AT
B £ or 7 — 7 T DIP ¢ 300 803. 7 m
B % v — b T 346. 3 m




e oK B M B £ & M K L)

ficvzl EE ith 4 TRTE|CRTE| CRTF|OTFE ¢ |47 ¢ = I VAN R=IN VAN TR I
6300 | 6300 | g100x [ 150x | soox |mmsi| sk |memmem| s | i | 700 [ THET L 5 # | 28
B N B B 90° 45° 22° 11° i5z22° | Wisz45° @150 @300 D75 300H 450H b - e 750" =
GX ¢ 150 1 1 1 1 4 2 2 2
GX ¢ 300 9 5 14 9 8 2 2 2 1 1 3 2 6
. o AT VLA ™ - . - . e, o Py re 2 et
ficvzl F i s | WIER [PERIRAT BRI FHT o | A TH AR E | 22 [P E PRSP B | KIHFT e N .y 5 e
Wik | ke 575 #i S L9) T - #pE | 74 PU 7 (GU Y e | o Zh
e | 75%x300 [ 75x500 | 75X 200 | 75 %200 ‘(gm 500 X 690 500 X 690 500 X 690| KJEA" ¥V
GX ¢ 150 1 6 1 13 0.4 11.4
GX ¢ 300 1 1 1 1 1 1 1 19 12 23 9.9 102.9
B 1% 114.3
B A& T fi T
AR T , , - _ .
B AN X — s — s - o fef ke < - fit =)
e S . . . |77 s oo e (BERREEEK| BBk For I
E=g =t 1 Y 1 Y 37 S 3 N
W SO DY GY | AT AR T 5T T 00 [mesk LT || s 77 T [e—rT
GX ¢ 150 10.3 1 6 13 4 8 8.0 11.4
GX ¢ 300 99.9] 14 19 23 2 2 2 16 197.4 | 102.9
B 205.4 | 114.3




MEFR S (AT L) e
G X7 ¢ 150mm i T R 11. 410 11.4
DP=1. 30m~2. 15m BARRIE R 10. 310 10. 3
7} ¥t Bl % MEHE R & | R
Z 15 & G X&' 1. 140 1 1. 140
Z ) H G X&' 0. 800 1 0. 800
H ] H GX%® 0. 700 1 0. 700
Z ) B | GXEMNRL 1. 000 1 1. 000
Z 15 & G X&' 1. 260 1 1. 260
Z ) H G X&' 1. 000 1 1. 000
4 ] B | GXEMNRL 1. 000 1 1. 000
Z ) B | GXEMNRL 1. 000 1 1. 000
] = & 22° 1/2 0. 140 1 0. 140
0] = ih H 45° 0. 200 4 0. 800
] & 45° 0.470 1 0.470
ik i ¢ 150 0. 240 2 0. 480
Yy 7 kv — LA H ZHEL 0. 550 2 1.100
Tt o » & J A | H=510~690mm 2pi] 2
7 =t va ¢ 150 0. 040 1 0. 040
B = gl i B 6
B & Rl i GU»7/ 13
(22 TF4 ¢ 300X 150  I<fV5) 0. 240 2 0. 480




MBS (& e L) e

G X7 ¢ 300mm i T R 103. 400 103. 4
DP=1. 10m~2. 15m BARRIE R 99. 880 99. 9
7} s Bl % MEHE R ¥ & | R

=8 & G X& 6. 000 9 54. 000
H =l H GX%E 3. 050 1 3. 050
Z ) & G X&' 2. 060 1 2. 060
H =l H GX%® 3. 250 1 3. 250
4 ] B | GXEMNRL 1. 230 1 1. 230
Z ) H G X&' 3. 270 1 3. 270
4 ] B | GXEMNRL 1. 220 1 1. 220
H =l H GX%® 4. 390 1 4. 390
4 ] B | GXEMNRL 1.010 1 1.010
Z ) B | GXEMNRL 1.010 1 1.010
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